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Take a look at the two boxes below. Each box has the same /0 lm& .

If each ball has the same knd 5S , which box would weigh more? Why?

Box B

e
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Answer:_&QX_A_éM&HrhM Were bﬂa{ / $>
The box that has YNV m‘ lS has more_yna$S per unit

of V0 M [ . This of matter is called emyemicm
) . The density of a material helps to ﬁﬁf(ﬁg’&sm; other 3

materials. Since JNASS is usually expressed in 9M S and CM

volume. i _centimeters oubed (cubic cemtimeters)

is expressed in 57’&1}15/ 0M3

We can calculate densus ,using the formula:

mass(9)
Vens “LV volum&(cm‘) d= m

Density Problems

If box A has a mass of 79.4 g and a If box B has a mass of 25.4 g and a
volume of 29.8 cm®, what s its volume of 29.8 cm®, what is its
density? densny?
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[image: image2.png]Densities for some common substances:

Substance Density (g/cm’)
Air 0.0013
Oak C o085
Water 1.00_
Ice 0.93
e ,:Imninum )
Lead 113
Gold 19.3
Ethanol 0.94
Methanol 0.79
So, box A would be (4 | Mﬂm_, and box B would be
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